1. 5" BUg YE/AULE sUL ML [Awd 89 7

(A) [Quas (B) dlMatas

(C) MRS (1)) 2UsUALAS
2, Ad-unidl oud asu 5§ o 7

(A) sunsl o 9, () (el audl 7y,

(C) oL A H[2ami £aln sul. (D) (21215 [aendlaAl4 mwud #9.
3. Ad-miell 54 215 2yl Gl a2 USR B ¢

(A) undlu (B) A8y

(C) AL (D) B
4. QaA-unidl sut ansui ead-l widl Ad Gualay gyl ¢ ?

(A) 2un-l il disi-l ofls ol 6.

(B) HSIHULS % AAUL A2 HSIHSAd wel=al,
(C) € dl Hi Huz 1] 76,

(D) dnel stalsiadl o [Fai dg suw,

5. “P"" AEHI suUl VAU U Al € 7
(A) 1 (B) ¥
(C) & (D) A
6. “dl2s Helend'” 20 HI2 sUl UCEUHS AL O 7
(A) WAl ad y2i 44 Goaldl Geud (B) el ay y2i 48 Goaldl Geua
(C) wixns ad y2i 4d Goaldl Geua (D) dald2 au yai 2d Goraldl Geud
7. ‘At Al HA ! 5UH dA, Gz 2uHAdR 77 — 3uilEd st sul umu © ?
(A) deY2Y (B) (23}
(C) HanuedlMl (D) Guue
8. A8 oAl : ay + uld
(A) aaluld (B) aald
(C) uguld (D) aw:u(q
9, 56 sdad-l 2 “ASui QA e Adl” vdl w9 ?
(A) 9t ead suila-l #Aiv (B) A+l eus €dal2
(C) s 7 otz Yoll w2 (1)) 9¢gEdl 1 £9Q 3w

10. Iuil3d gEal UsIR ogual.
wndl 4295 2udld Glow 28 di VUALE MY 9.

(A) At e (B) #o{4s §E~t
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giog, e’ Al Aanr-udl 4l 7

) it o (B) l2z
(A) AN (D) %1
(C) % | 7 |
Gre o6 ‘Yas " WAl AU A8 540 .
12. (3) 214l
(A) vl N
(D) ¥l
(C) AluLs
3 teau” AL AE 56 Ay ?
A) il (B) seqai4s
(C) Pl (D) (Bauaiys
14, Rl o v usal, el AA-uni sul 90g § 2082yl wAlo Wisl 1 7
(A) Al Wl €1t 2. (B) Ald-14 02 weuaa & ...
(C) M2 uelEou 539, (D) 2Uu 2atd 69,
15, Ald-uniddl sul ¢9e 17 2841 12l ?
(A) yedl (B) HELS1L
(C) [0l (D) sul&-
16. Select the word with same meaning - synonyms : “Terminate”.
(A) Suspend (B) Dismiss
(C) End (D) Interrupt
17. Select the word with similar meaning - synonyms : “Bash”
(A) Strike (B) Neglect
(C) Ignore (D) Embrace
18. Select the word opposite in meaning : “Innocent”.
(A) Sinful (B) Guilty
(C) Deadly (D) Corruption
19. Select the word Opposite in meaning : “Scold”
(A) Enamour (B) Rebuke
(C) Criticise (D) Praise
20). Select the word for group of words - one word substitution : “Relationship by blood”
(A) Parentage (B) Affiliation
(C) Consanguinity (D) Nepotism
21. One word Substitution : “A Person who kills somebody especially for political reason™
(A) Criminal (B) Murderer
(C) Assassin (D) Hangman
22, The accused X (o the Judge for mercy.
(A) asked (B) applicd
(C) demandeq

(D) appealed
MDLT.- 2023 - A | Icontd.
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23. Cholestrol has long been identified ax « stlent Killer hecause the patient has no of the
danger freely his system.
(A) information, invading (13) iden, infecting
(C) through, attacking (D) notion, ravishing
24. The waiter took the plates after we had finished eating.
(A) up (B) off
(C) away (D) out
25, She has not recovered fully the shock.
(A) against (B) of
(C) from (D) of
26. Give meaning of *To take umbrage”
(A) To feel depressed (B) To be off ended
(C) To be satishied (D) To be pleased
27. Give meaning of “To set the people by ears™
(A) To box the people (B) To insult and disgrace the people
(C) To punish heavily (D) To excite people to a quarrel
28. Find correct spelling.
(A) Comentry (B) Commentary
(C) Commentry (D) Commentery
29. Find correct spelling.
(A) Distillery (B) Distilry
(C) Distillry (D) Distilery
30. Find correct spelling.
(A) Acurrate (B) Accurate
(C) Acurate (D) Accurratte
J1. Give name of 14" Vice President of India ?
(A) Jagdeep Dhankhar (B) M. Venkaiah Naidu
(C) Om Birla (D) Mohammad Hamid Ansari
3. euRd-t 14 Hi Guarguld- um weual.
(A) AU 4R (B) A dBuL -1
(C) i (B4l (D) HIEWHE e L)
32. Which country recently organised 19" Asian Games ?
(A) Indonesia (B) South Korea
(C) Malaysia (D) China
32, gl dloadd 199 20 o0 su e g1 20alld srami wudy ?
(A) H-sil@ial (B) £lda silRu
(C) nalaiu (D) Al

N
~
-
_—

-
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9* ferm sometimes seen in the news is associated with
‘CRISPR - Cas aeni ryptocurrency
33. CRISPR | | (B) Cryp '
(A) Artificial Intelligence (D) Particle Physics
G 1e Editing ' iR T y o o
. M:;“(1f 9° 3165 % U135 AMAIRHI Al 1Yl 69 d 2l 20d 2Aqsmdd ¢
33. ‘CRISPR-Cas Rl aa
(B) 152 .
A oflg@Hn o
PSS * (D) solly ®ilds2uz
(C) ap1H (3231 _ in Olympics Games for India. In whic
34 Abhinav Bindra won first ever individual gold medal in Olympics Game: . In which
| olvmpic games he won the medal ?
 Beiii (B) London, 2012
(A) Beijing, 2008 o
(C) Athens, 2004 (D) Rio, 2016

3. w61 Brst d culsadnd Ad AlABFUSHT Ales Hsa Hna-1z uaH cuzdla 89, dnel 569 20alFys 214y
Hsd HNdd el ?

(A) o651, 2008 (B) 4s4, 2012
(C) ¥, 2004 (D) Rul, 2016
J5. Which country’s cricket team defeated by India’s cricket team in finals of Asia cup organised in
September, 2023 ?
(A) Pakistan (B) Bangladesh
(C) Sri Lanka (D) Afghanistan
35, AR, 20234 dindd AR SIS 1AM auzdH) (552 A3 s 2l (332 A waud) ?
(A) W5 (B) si>aA12.9L
(C) &l s (D) w421

36. Disqualification of a Loksabha member on the ground of defection is prim

(A) Chief Justice of Supreme Court (B) Election Commission
(C) Speaker of Loksabha (D) President

36. Alsae Aouql yayasd AlY 24l2udl wialis A si GLRL 55 sMi »ud 69 7
(A) AU AELAL Koy iy

arly decided by whom ?

(B) yzullyy
(C) AlSAGUAL ks (D) 2y[q
37. Which dynasty built Brihadeeswara temple in Thanjavur ?
(A) Ganga dynasty (B) Chola dynasty
(C) Chalukya dynasty (D) Rashtrakut dynasty
o S AYE g1 w3 4[R2 UANGR G-UQUH] Y ?
(A) 321 qg (B) Al4 q3
(C) agsy 4y (D) A% 42 d9
J8. USB is acronym for
(:&:) Unfform Service Bmadcasting (B) Universal Service Bus
. :I(S)Bl:;’; "é::::;o: Bus (D) Universal Service Broadcasting
(A) 48] W&y o g5 .-
(©) uisi deve &; (2 (B) y[aie uldx ox

(D) Y[Raxa u(dy ol ssiZea
MDLT -2023- A |
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39. Who established Maitrak dynasty in Vallabhi, Gujarat ?

(A) Bhattarak (B) Yagnavarman
(C) Dhruvasen (D) Pushpbhuti
39. AAA acqollni sl HAS doi-fl ey 49) ¥
(A) MaLs (B) 4na¥-
(C) 44+ (1) Yooyl
40. As per recent Elephant census, which of the following state was highest Elephant population ”
(A) Karnataka (B) Assam
(C) Kerala (D) Tamil Nadu
0. arPd-ll el qudl Rl Yo Ndunid) s 2omui ¢l ) Y aadl ¢ 7
(A) 58125 (B) 2uay
(C) 50 (D) dlBa-ug
41. Which of the following wetland of Gujarat is included in Ramsar site ?
(A) Nal Sarovar (B) Wadhwana Lake
(C) Khijadia Bird Sanctuary (D) All of the above
4 AR a6 udoyli A anaz wzui wily B 7
(A) 1A AR (B) a2U8L dvua
(C) vlr(sut yall vie1u120y (D) 2NE AMIH
42. Budapest Convention is related to which field ?
(A) Nuclear Energy (B) Women Empowerment
(C) Climate Change (D) Cyber Security
42.  o81dR2 5o suL A Ad AoiRd S ?
(A) [543 Glod (B) ¥l aalssw
(C) s de A~ (D) A2 Y2

43. Relationship between Indian Standard Time (IST) and Coordinated Universal Time (UTC) can
be best described as

(A) IST=UTC +05:30 (B) IST=UTC -05:30
(C) IST =UTC +05:00 (D) IST = UTC -05:00
43.  cudla [Rud a4 (1ST) 24 dBs S3428 ¥uu (UTC) a2 2ol 2 A 2o ws .
(A) IST=UTC +05:30 (B) IST = UTC -05:30
(C)IST=UTC +05:00 (D) IST = UTC -05:00
44. Which Greek general was defeated by Chandragupta Maurya ?
(A) Seleucus (B) Alexander
(C) Megasthenes (D) Darius
4. g Al suAls pusdid el gdi ?
(A) Aeys (B) A543
(C) TR EUEIRY (D) 3Ruy

SN, \_ A, A .
P.T.O.
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b & ame Court e Ised basic strucqy
45. "Keshvananda Bharti case .lmlllﬂ'_':‘nl‘Inmwl on which Supreme Court establi
— 1 et sutrd el Mm;'::u:r:smmw-{l (2440 20 A 5L AR 04y
' SIEL" WL 2L *
45. ::5:-;5 MRl 54 Yy
(A) 1971 @i
(C) 1973 (D) 1975
46. Who is India’s current Chief of Defence Staff ?
(A) General Bipin Rawat (B) General Anil Chauhan
(C) Admiral R Hari Kumar (D) Chief Marshal Vivek Ram Chaudhari
6. HRAU AR g iTs (354 2215 510t 6 ?
(A) ¥4 (Bl q4 (B) %2& w[q4 Als1el

(C) Aslhre 212 ¢ g2 (D) Alg wele (ad sy Alyd)

47. Which launch vehicle launched Chandrayan-3 ?
(A) PSLV-CI1 (B) GL40
(CO)GSLVMK IIIM 1 (D) LVM3 M4
47. R LC L N PITETETE g o g 24 ?
(A) PSLV-CII (B) GL40
(C)GSLVMK HIM I (D) LVM3 M4
48.

2. Kumarpal Solanki

3. Ahmadshah Badshah-]
4. Siddharaj Solanki
(A)4-2-3-1]

(C)4-2-1-3 D)2-4-1-3

YA A1 AN Aney 510053 ¥ Al $HH] A gq).
1. Hlgaqg oy

2. SN ¥l
3. VEHEW YUELE-]

4. [Rgur Wdd
(A)4-2-3-1
) d-2.7.3

48.

B)2-4.3._
D)2-4.1.3
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49. Which fundamental right has abolished untouchability ?

(A) Article 15 () Article 16

(C) Article 17 (D) Article I8
49. SUL HNMA W5 QIR A 2UAL -UOYE s2aMi 2udl 19 7
(A) 2 4IE 15 (B) #4297 16
(C) AAIE 17 (D) s %9% 18
50.  Which Saint give philosophy of *Dwaitadwait’ ?
(A) Shankaracharya (B) Madhavacharya
(C) Ramanujacharya (D) Nimbarkacharva
50. 5L GIRL“Gdigd” drasuA suuami »udq ?
(A) 250 (B) M4
(C) AU (D) [Rasusiay
51. A merchant has 1000 kg. sugar. He sold some sugar @ 8% profit & remaining al 18% profit. He
gains 14% on the whole. The quantity sold at 18% is. iy '
(A) 400 kg (B) 560 kg « = L
(C) 600 kg (D) 640 kg

st s audl 1000 Bl vis A 8. 25 w2l 8% 5l 2 bl vl 18% 451l 4 6. A d- 54
14% 451 & dl 18% g1l ddl 22l wis ddl vl ?

(A) 400 (5al (B) 560 (3¢l . (3-3 5’
(C) 600 (3al (D) 640 (34l ‘if—
S2. The percentage increase in the area of a square, if each side is increased by 20%. e ?."4
(A) 22% (B) 33% b e e
(C) 44% (D) 55% Sex
52. oA AUl eugAl doud i 20% a3l s2aMi 2id dl AASUAL 324l atul 2l ? , - o
(A) 22% (B) 33%
(C) 44% (D) 55%
53. Average of a cricket player for 10 innings was 32 runs. If he want to increase the average by 4
more runs then in next innings he has o make runs. —
(A) 76 (B) 79 :
(C) 85 (D) 87 X
s3. a5 (332 2uadlzAl 10 Sl Aadr 329 A A Al oadr a4 sail lu dl utﬂ-l: t{S-{l (Ml
AR ... A 3 s %34 9. 5 &
(A) 76 (B) 7Y N
(C) 85 (D) 87



oy i stillw
5. A boy can swim in \ll‘ o ani
stream. The speed of IF— () 2.0 km/h
(A) 1.8 km/h D) 1.5 km/h
(€) 2.2 km/h a3l s2Al DM AL A sy
(9 u2e 1G22 : . HEL yyy,
o islsal (e el 4.8 3l seusdl sl Adl ¢, 2 4
a6, di 243wl 38 sodl wal 7
W) 1.8 [5adl/scns (B) 2.0 [5l/54a15
(A) 1.8 5HUA¢
5ALS
(C) 2.2 [sdl/sas (D) 1.5 (53l/
ss. Today is monday after 61 days it will be.
(A) Tuesday (B) Monday
(C) Sunday (D) Saturday
S5, P AMAR O dl 61 [Bay uedl sul 4k vl ?
(A) HANAUR (B) AlHAR
(C) :[aar (D) w2
56. The compound interest on Rs. 30,000 @ 7% is 4347 Rs. The period is
(A) 2 vears (B) 3 years
(C) 3.5 yvears (D) 4 years
6. 3L 30000 U HEA UR 7% AW 3L 4347 20% HOL 6. i ARUML AL 2001 32l €9) ?
§7. Which of the following fraction is greater than 3/4 and less than 5/6 ?
(A) 3/5 (B) 4/5
7/5
i (D) 9/5
57. 1AL {
U U sl 24yeais 3/4 521 WA 243 5/6 5301 ALl €9 ?
(A) 3/5
‘ (B) 4/5
(C) 7/5
. 4 (D) 9/5
S8. hat will come in place of question mark in the followin .
54_(?’3 + 543 + §.43 = 603.26 s CQuations ?
(A) 6
()9 (B) 1
. (D) 8
58. '{l ' ” B :
S4.(7)3 + 543 4 5.43 - 603,26
(A) 6
(C)9 (1) 1
(D)§
— gy
MDLT - 2023 - A | N
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59.

60).

60.

61.

61.

62.

62.

63.

63.

64.

64.
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Three numbers are in the ratio of 3 : 4 : S, Their LOCM is 2400, then their I e

(A) 40 (1) 80
(C) 120 (D) 200
AQL AV 3 : 41 5 AL RUNHE D, Al LOM 2400 6l dl dalAl HOF 2@l 2t

(A) 40 (B) 80
(C) 120 (D) 200

22, 54, 108, 135, 198 their LCM is

(A) 330 (B) 1980

(C) 5940 (D) 11880

22,54, 108, 135 211 198 -l LCM 204l

(A) 330 (B) 1980

(C) 5940 (D) 11880

If an object moves at five feet per second, then it will move how many feet in an hour :
(A) 300 (B) 18000

(C) 30000 (D) 180000 o~ S e el
A A & dq £2 AL Wid 52 vAdl iy dl scsui s2dl wasdl ? | D
(A) 300 (B) 18000

(C) 30000 (D) 180000

Find the next number 125, 80, 45, 20 ...7...

(A) 5 (B) 15

(C) 25 (D) 35

uedll 412 alyl. 125, 80, 45,20 ...7...

(A) S (B) 15

(C) 25 (D) 35

51 + 52 + 53.... + 100 is equal to _

(A) 2775 (B) 3775

(C) 4775 (D) 5775

51+ 52 + 53.... + 100 -l A 324l AU &9

(A) 2775 (B) 3775

(C) 4775 (D) S775

What least number must be subtracted from 13601 so that the remainder is divisible by 87 7
(A) 23 (B) 29

(C) 31 (D) 37

13601 il vl 2 56 253 v 52l ASA Bl AuA 87 ad o420l sty ?

(A) 23 (B) 29

(C) 31 (D) 37




0

0. 17, 26,37, 50, 64—

5. 1
65. Find the odd man out. 2,- (B) 50
(A) 64 (D) 10
(C) 37 ,
- S 7 26, 37, 50, 64, -
¢ 0 2062 wldl. 2,5, 10,17,
65. = ‘B) 50
A) 64
o (D) 10
(C) 37
D
66. Fill in the blank. 7, 26, 63, 124, 218, 342, 7%\
(A) 391 (B) 421
(C) 481 (D) 511
66. widl 72Ul M3, 7, 26, 63, 124,215,342, 7
(A) 391 (B) 421
(C) 481 (D) 511
67. A student has to obtain 33% of the total marks to pass. He got 125 marks and failed by 49
marks. The maximum marks are ?
(A) 500 (B) 600
(C) 800 (D) 1000

67. ;&wtﬂ-’( WA Ul 33% Hisll ¥ 30U 9. dA 125 WS MOl 8 ot A 40 sl L 2dd 8. 4 46 Wi
2l 83l 7

(A) S00 (B) 600

(C) 800 (D) 1000

The price of a book is first decreased by 25% and then i
in the price is ?

(A) 10
(C) 30

68.
ncreased by 20%. Then the net change

(B) 20

(D) 40

6. WResrll (S3uani uan 25% uaisl 5913 yehlf] 299, SLTEY

53512 324l €3l ? SRAUML UL 69, AL AN (Fradui 2wl

(A) 10 (B) 20
(o0 (D) 40
69. A man’s speed with current i
. 15 15 km/h
against the current is ? and the speed ofcurrentis 2.5 Km/h. The speed ofa ™4
(A) 9.5 km/h

(B) 10 km/n
(D) 11 kmy/h

(C) 10.5 km/h

69. Ml e o Bey |3 (33 5¢0054) 63 N

sodl wdl ? U A28 Balsens . g Wets Al 2 sl 24
(A) 9.5 [3l/sqs
(C) 10.5 Bl s (B) 10 (530155

(D) 11 (53} 545

_
12 td.
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speed. e length of ench frain s

7). Two trains are running in the opposite direction in the sume
n l | | . ' ™ hl"”l'.
120 mtrs. and they cross each other in 12 seconds, Then their speet
(A) 42 TR
(C) 28 () 20
| : . . . . ' b /¥ - '"
70. S &t A 350 (g [Rouni 1) 69, 52 501 donss 120 122 19 a4 12 A48T A goflop uane 5249
Al s . [5ol/scus vl
(A) 42 (B) 36
()28 () 20
1. A shop Keeper cheats 1o the extent of 10% while buying and selling by using false weight. His
total gain is ? '
; 9%
aindtae (B) 20%
(C)Zl“/n (D) 22,
71. . _ . T YL
! #s GBI Wizt -t steull wdui 1A dueed 10% A a2l 53 . wu Ao A4 52 25
SI4El 99| ?
(€) 21% (D) 22%
72. B}: selling 45 lemons for Rs. 40, a man loses 20%. How much he should charge for 18 lemons to
gain 20% ?
(A) Rs. 12 (B) Rs. 16
(C)Rs. 18 (D) Rs. 24

72 s WA 45 dlog 31 40 Hi 4 B 2R 20% 45 ¢lod ©. 18 dloy A S daa ASA Fell A4
20% 51wy ?

(A) 3L 12 (B) 31. 16
(C) 3L 18 (D) 3L. 24
13, A bag contains 50 P, 25 P and 10 P coins is the ratio of 5 : 9 : 4 and the total amount is Rs.206.
Find the total no. of coins 7
(A) 560 (B) 520
(C) 720 (D) 820
73. a5 adlui 50 Ve, 25 a2 10 T2u-tt RFasst 9 24 d 5: 9 2 4 NS 2 §A WU L 2066 ol
5 [Ass s2al ol ?
(A) 560 (B) 520
(C) 720 (D) 820
74. Two numbers are respectively 20% and 50% more than a third number. The ratio of these
numbers are ?
(A)2:5 (B)3:3
(C)4:5 (D)5:4
4, Alog {002 52l WA 6L 4613l 20% A 50% A B, vt ARAM] Al Aln Jeg el ?
(A)2:5 (B)3:5§
(N)S5: 4

(C)4:5
_______________——————————'—'—_———__——_-.__
13 P.T.0.

MDLT - 2023 - A |




) YoM
1.5)° +(4.7) (3.8) . axd.7)-(1 3% 3.8)
: - 1 8 2 (-‘.7)'("'8)
5. simphify 577V (B) 8
(A) O (D) 12
@ 3.8) el
] -‘_,_] | ‘)(4-7)( . .1131;{.{ 71
1.5+ 7,'*.(5-3’38)‘ a7 (15%38)
! (4.7X3.0)" :
75, &)’ +(4.7)° +(3.8)° (%
(1.5)" +( ) .
s (D) 12
©F i rine ?
{ protein In u
tory test fol analysis 0
76. Which is the laborato B S e
(A) Benedict’s Test = o hets Test
uchet’s les
(C) Heat Coagulation Test (D) ¥Fo
" 7
se. vauori A gl 56 AW gRLSAUH 214 ¢
(A) G452 222 (B) 83 2%2
(C) 2124 531 (12 sy 2x) (D) §142 232
77. In a Green vacutainer tube which chemical component 1s there ?
(A) EDTA (B) Heparin
(D) None of the above

(C) Sodium Flouride
77, dlen 3l dsydl o sy AuaBs sy gla o ?

(A) 9.8L.4L.2. (B) €14l
(C) AllZun sdiuds (D) 2l eaudd e U4 215wt )
78. In which coloured Bio Medical Waste bag will you discard the injection Needle ?
(A) Yellow (B) Blue
_(C) Red (D) White
78, OFsutdl AluA Gualoi el uedl sy 394 5400 (BMW Bag) i 4jwiail 7
(A) dlou |
(B) aug o)
(C) a4
| (D) use
79. Which one of the following is the colourin '
(A) Acriflavin BAagentin Antisera AR ©
(C) Eosin (B) Safranin
79. w23 AR HLQyay oF | R L i 3 (D) Methylene Blue
(A) 215544 S
(C) Sutidl4 (B) 45314
(D) Q’lc{lq qlguﬂ
MDLT -2023-A |
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S0. How long platelets can be storved in lnboratory ?

(A) S days () 4 dnys
(C) 3 days (1) 2 days
80. wdede o sed [Rax Ml dold2 i 20adl ausia 69 ?
(A) § [Bax (B) 4 [a
(C) 3 [Rax (D) 2 [Eax
Sl. What is the magnification power of low power objective lens in compound microscope i
(A) 4 x (B) 10 x
(C) 40 x (D) 100 x
8. sAUG-S M slslu-UL Al WaR 24105 52 q A=+l 2l sedl slu 6 ?
(A)4x (B) 10 x
(C) 40 x (D) 100 x
82. What s the test used for analysis of sputum in TB ?
(A) CBNAAT (B) TRI - DOT
(C) RPR (D) RT - PCR
82. gl Al W2 Ansid 59 vgldll asirami 20d o 7
(A) CBNAAT (B) TRI - DOT (218 - s12)
(C) RPR (D) RT - PCR
83. How many days after taking last antibiotic, a person can donate blood ?
(A) 2 days (B) 5 days
(C) 7 days (D) 10 days
83.  wl2oudllPs s dluit 2emi 2ol s2at [Ban ugl ulsdul 5deir 523G A6 ?
(A) 2 Bax (B) 5 [2an
(C) 7 [2ax (D) 10 [2ax
84. Which of the following tests are carried out for donor blood to avoid Blood Transfusion Diseases
Y 4
(A) HIV (B) HBsAg
(C) Malaria (D) All of the above
84.  dldl g2t adl 310t e {2 25detdi dldlA sut A0 dwrt wedlr el siuai 2ud © ?
(A) W50 4. (B) Sl lu-B
(C) Hddlu (D) GuRLsd dHIH
8s. What is the recommended temperature to store platelets in laboratory 4
(A) 37°C (B) -30°C
(C) 2 -6°C (D) 20 - 24°C
85.  oqs Asui W@edad d2dl duMIAHE Al wd 6 7
(A) 37°C (B) -30°C
(C)2-6°C (D) 20 - 24°C

S
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Q whidiniuaiunalind x (13) |lrmmrllmwm-
g R (1) None of the ahove
(C) Dihvdrate
TN LR L EL L
So. CPrD - A SN " ——y |
A) S22l | .
(}' . Sl () Jrhu LA AN l{l A%
(C) S19LD 47 q
8. Which of the following represents nonsense cotdons . |
(A UAA (B) UAG
(CYUGA (D) All of the above
87 ADAunidll 56 Br-Slwu sisn g 52
(A) UAA (B) UAG
H
(C) UGA (D) Gualsrt A¥L

SS. Which of the following cell is not a WBC ?

(A) Neutrophil (B) Busophil

(C) Monocyte (D) Thrombocylte

88. A4 siaixiel su1 WBC 4l ?

(A) 42lsld (B) elxisla
(C) Wirluse (D) Al3tiD2
89. What is the pH of bufferred distilled water used in leishman’s staining ?
(A) 6.8 (B) 7.2
(C)7.4 (D)8
89.  dladi-u 2-lani Guulomi datdt o1g2 (A28 wel-l pH 326l Slu & ?
(A) 6.8 (B) 7.2
(C) 7.4 (D) 8
90. Name the Hormone detected in Pregnancy.
(A) ADH (B) GH
(C) TSH (D) hCG
9. AUl £ HAAL VA UM 214).
) TSH (928 221444)3 ;
9]1. Which of the followi:‘sg IS no?:;[..'ilzer { ' (9) 3 (qu@)
unction Test (LFT) ©

(A) Total Bilirubin (B) Total Prage:
(C) Gamma Glutamyl Trancferase (GGT) ool
9. AA-u UL sul dlaz § 50 322 44f) 7
(A) 2lea olldl30{l

(C) 2uML 2q2idld 21453

(D) Bety Microglobulin

(B) 2leg NE\M

(D) 612y - 3y slacloy ] 4
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Which of the following is bad € holesterol !

92.
(A) LDL. (13) 1D,
(C) VLDL (1) Chylomicrons
92. Al WAL 54 WAN sid220A 69 7

(A) LDL (13) DL,
(C) VLDL. (1)) M Al sl

93. RPR & VDRI tests are done for the diagnosis ol
(A) AIDS (B) Hepatitis-B
(C) Sy philis (D) Malaria

93.  RPR ¥4 VDRLudawi sut 21t (Aet @ saaumi 2ud ¢ 7
(A) AD A (B) dld21s -0l
(C) Alsdln (D) Ha<lul

94. Koilonychia is the clinical feature of anaemia that presents itself due to :
(A) Vitamin B12 deficiency (B) Folate deficiency
(C) Iron deficiency (D) Membrane defect

94. “sidaldlElul” A wigAon aae e ¥ - sel w9 ?
(A) dl2idl4 B12 -l Gay (B) s1d2-l Gay
(C) dlgdra-l Gay (D) "3l asdls

95. In Microcytic hypochromic anaemia :
(A) MCYV Increases (B) MCYV Decreases

(C) MCV remains within the normal range (D) MCHC increases
95. S sl s sidulsials zA4Hla” Hi...

(A) MCV a¥l 89, (B) MCV a2 8.

(C) MCV i §2512 adl 4l (D) MCHC aX ¢9,
96. Bacteria belongs to which of the following classes ?

(A) Prokaryotes (B) Gukaryotes

(C) Protozoans (D) Keratocytes

96. ols2lat o DA W4 sa aRllsemi 2ud ¢ ?

(A) Wi5dule (B) y53lul2
(C) w2l (D) 5p21052
v7. Which is normal range of Haemoglobin in female ?
(A) 13 - 17 gm/d| (B) 12 - 16 gm/d|
(C)15-18 gm/dI (D) 14 - 18 gm/dl
97, Al dlul2alloi-dl o e sedl glu e ?
(A) 13- 17 gm/dl (B) 12 - 16 gm/dl
(C) 15 - 18 gm/dI (D) 14 - 18 gm/d|
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00,

100.

100.

Rlood group “A" person has w hich

(A) Anti A antibody
(C) Anti A & Anti B antibody

st s AN AT Al el s Al 4w+

(A) A2l a4 wA-Elo

() A=Al A 2 A2 ofl A-Eleldl
What is the normal range of PPBS
(A) 70 - 100 mg/dl

(C) 70 - 200 mg/dl

PPBS Al 2tmi-d M s2dll gl 69 7
(A) 70 - 100 mg/dl

(C) 70 - 200 mg/dl

antibody in

‘"
serum .

(13) Anh 13 antibody

(1) None of the above

PRI
) ofl w21l

(B) A
- a4 Ul s i el

(D) sl

(B) 80 - 140 mg/dl
(D) 80 - 200 mg/d|

(3) 80 - 140 mg/dl
(D) 80 - 200 me/dl

What is the test used to detect Beta thalassenia

(A) Sahli’s Method

(C) Haemoglobin Electrophoresis

(B) ESR
(D) None of the above

oflet adAlar-u (Rett 2 sy udlaer saami 2ud 9 7

(A) Atsdl Hals
(C) dlxdaioll4 Sdszisi3 Al

(B) 6. 244 2112,
(D) ] caudd AL U4 215 o )



